Class-X Session 2022-23
Subject - Mathematics (Standard)

Sample Question Paper - 41

With Solution
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Time :3 Hoors Mlax. Marks : 80

L

= T R S PR

This Question paper cantains - five sections A, B, C, D and E. Each section is compulsory. However, there are internal
choices in some guestions.

Section A has 18 MCQ% and ()2 Assertion-Reason based questions of | mark each.
Section B has § Very Short Answer {VEA)-type guestions of 2 marks each.

Section C has & Shart Answer (54)-type questions af 3 marks each.

Section D) has 4 Long Answer (LA )-type questions of § marks each.

Section E has 3 case based/integrated units of assessment (4 marks each) with sub parts of values of [, [ and 2 marks
each respectively.

SECTION-A (Multiple Choice Questions)

Each guestion carries | mark.

L

2,

10,

i1.

11

13.

When 2% is divided by 17, then remainder would be
(a) 1 by 18 ic) 14 {d) None of these
If the polynomials ax? +4x2 + 3x — 4 and x* — 4x + a leave same remainder when divided by (x - 3), find the value of a.

| |
(a) -1 by 1 (c) 3 dy = 5
The perimeter of a rectangle 15 40 em. The ratio of its sides 15 2 : 3. Find its length and breadth.
g} [=10cm,b=8cm b} I=12cm,b=8cm ¢} I=12m,b=8m (dy I=40m,b=3m
If the product of roots of the equation x* — 3x+ k= 1015 -2, then the value of k is
(a) -2 by - c) B (dy 12

Sanjay starts his job with a certain monthly salary and earns a fixed increment every year. [fhis salary was ¥ 4500 after four
years of service and ¥ 5400 after 10 years, find his initial salary and annual increment.

{2) 4000, 200 by 3900, 150 (c) 4500, 100 id) 3800250
Inan AP ifa=35,a =8l and §_ =860, then nis
(a) 10 by 15 ) 20 d) 25
: AB BC CA
Ifin two AABC and —na—m— th
in and APQE, OR " PR PO £n
j2) APQR~ACAB by APQR~AABC (c) ACBA~APQR (d) ABCA-~APQR
If the equation
(1+my 2+ (2mchx+{c’ — a?) =0 has equal roots, then
(2) cl-al=l+m! (b) c=a?{l+m?) (c) cat=(l+m?) d) c2+al=1+m
Ifeight times the &' term of an A_P. is equal to 12 times the | 2" term of the A_P. then its 20™ term will be
(a) -1 (b) | c) 0 (d) 2
The centroid of the triangle whose vertices are (3, -7), (-8, 6)and (5, 10)i=s
(2) (0,9 (b) {0,3) € (1,3} (d) (3,5)
cos 17, cos2® cos 37 ... cos 1 79° 15 equal to
(a) -1 (b) 0 © 1 @ 1742
Atree 6 m tall casts a 4 cm long shadow. At the same time, a flag pole casts a shadow 50 m long. How long is the flag pale?
(a) 7T3m by 100m {c) I50m (d}) E0m

L. Infigure, if ZAOB= 125" then £COD s equal to

(a) 625° by 45 (d) 55



14. Twocircles wath centres Oand P, and radii 8 cm and 4 em touch each other externally. Find the length of their common tangent
QR

@ Sem (b) Tem © 82em @ 73em
15. A drain cover is made from a square metal plate of side 40 cm having 441 holes of diameter | em each drilled in it Find the area
of the remaining square plate.
(@) 1250.5em? (b) 1253 5em’ (c) 12402 em? (d) 12602an’
16. Twao farr dice are thrown. Find the probabality that both dice show different numbers.
i s 2 )
(z) G (k) 5 (c) 16 (d) 5
17. In a frequency distribution, the mid value of a class is 10 and the width of the class is 6. The lower limit of the class is

&) 6 by 7 c) 8 dy 12
18. A factoryhas |20 workers in January, 90 of them are female workers. In February, another 15 male workers were employed.
A worker 15 then picked at random. Calculate the probability of picking a female worker.

@ 3 ® 3 © 3 @
[ASSERTION-REASON BASED QUESTIONS)
In the following questions, a statement of Assertion (A) is followed by a statement of Reason (R). Choose the correct answer out
of the following choices,
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Aistrue but R is false.
()  Ais false bur R is true.

E
2

AR AC

19. Assertion: [fina A4BC, a line DE || BC, intersects A8 in Dand 4C in £, then D - iE-

Reason : Ifa line is drawn parallel to one side of a triangle intersecting the other two sides, then the other two sides are
divided in the same ratio,

20.  Assertion : Ifthe number of runs scored by 11 players of a cnicket team of India are 5, 19,42, 11, 50,30, 21,0, 52, 36, 27 then
median is 30,

=

g ne 1" gromi
Reason : Median = [—] value, if n 15 odd.

SECTION-B

This section comprises of very short answer type-guestions {(VS4) of 2 marks each.
21. Find how many integers between 200 and 500 are divisible by 8.
OR
Show that one and only one out of m, n + 2, n + 4 15 divimible by 3, where n is any positive integer.
21, Inthe figure, P()istangent at a point R of the circle with centre O, If £ TRQ =307, find £PRS.
P R Q




OR
In figure, BOA is a diameter of a circle and the tangent at a point P meets BA extended at T. If
2 PBO =30, then what is the measure of 2 PTA?

13, Inwhat ratio is the line segment joining the pomts (3, 5) & (-4, 2) divided by y—axis?
24, 5n]w:5uc13+mnzﬁl=%;ﬂt:‘}ﬂ"

25, A bag contans 5 red balls and some blue balls. If the probability of drawing a blue ball 15 double that of a red ball, Find the
number of blue balls in the bag.

SECTION-C

This section comprises of short answer type guestions {54) of 3 marks each.
26. Yash scored 40 marks in a test, petting 3 marks for each right answer and losing | mark for each wrong answer. Had 4 marks been

awarded for each correct answer and 2 marks been deducted for each incorrect answer, then Yash would have scored 50 marks.
How many questions were there in the test if Yash attempted every question?
OR
One hundred men in 10 days do one third of a piece of work. The work is then required to be completed in another 13 days.
On the next day (the eleventh day) 50 more men are employed, and on the day after that, another 50. How many men must be
relieved at the end of the 1 Bth day so that the rest of the men, working for the remaiming time, will just complete the work 7
27. Find the distance between each of the following pair of points :
(z) P(6, 8)and (X-9,-12) (b) A{-6,—1)yand B{—6, 11)

28. Roots of the quadratic squation 36x® - 12ax + (g - b%) = 0 are ol and a—b . Then, find the value of ¢
c C

OR

Find the real roots of the equation ks Bl |
29, Ifthe ratio of the sum of first n terms of two A P'sis (Tn+ 1) : (4n+ 27), find the ratio of their mth terms.

: i
W Erianiie carn iy e hien he WehISoF = ig
l-xcoség l-ycosd ¥

31. Given that HCF (306, 657) =9, find LCM {306, 657).

SECTION-D

This section comprises of long answer-type questions (LA} of § marks each.
3J1. From given fig. express “x’ in terms of a, b, c.

In figure, two line segments AC and BD intersect each other at the point P such that PA=6 cm, PB =3 cm, PC= 2.5 cm,
PD =35 cm, LAPB=50F and £CDP =3(°. Then, find the value of ZPBA



33. Aboyon horizontal plane finds bird flying at a distance of 100 m from him at an elevation of 30°. A girl standing on the roof
of 20 metre high building, finds the angle of elevation of the same bird 1o be 45, Both the boy and the girl are on opposite sides
of the bird. Find the distance of bird from the girl.

OR
A 1.2 mtall girl spots a balloon moving with the wind in a honzontal line at a height of 88.2 m from the ground. The angle of
elevation of the balloon from the eyes of the girl at any instant is 60°. After sometime, the angle of elevation reduces to 30°,
Find the distance travelled by the balloon during the interval.

3. A solid wooden toyis in the shape of a right circular cone mounted on a hemisphere. 1fthe radiug of the hermisphere 15 4.2 em
and the total height of the toy 15 102 cm, find the volume of the wooden toy.

35. Find the mean of the following frequency distribution by Assumed Mean Method.

Class Interval Frequency

(-4 f

43 3
B-12 &
12-16 13
le-20 3
20-24 14
2428 10
28-32 8

SECTION-E

This section comprises of 3 case study/passage - based guestions of § marks each with three sub-parts (i), {ii), (i) of marks [, 1,

2 respectively.

36. Case-Study 1: Read the following passage and answer the questions given below.
The below picture are few natural examples of parabolic shape which is represented by a quadratic polynomial. A parabolic
arch is an arch in the shape of a parabola. In structures, their curve represents an efficient method of load, and so can be
found in bridges and in architecture in a vaniety of forms.




3

(1)  Write in the standard form of quadratic polynomial.
(1) Iftwo zeros are 2 and 3 then find palynomial.

1
() Ifoand 7 are the zeroes ofthe quadratic polynomial

22! —x+ 8k, then find k.
OR

1
If the sum of the roots is —p and product of the roots is ——, then find the quadratic polynomial.
P

Case - Study 1: Read the following passage and answer the questions given below.

Pookalam 15 the flower bed or flower pattern designed during Onam in Kerala. It 1 similar as Rangoli in North India and Kolam
m Tarml Nadu.

During the festival of Onam, your school is planning to conduct a Pookalam competition. Your friend who 15 a partner in
ocompetition , suggests two designs given below,

Observe these carefully.

Deesign It This design is made with a aircle of radius 32em leaving equilateral triangle ABC in the middle as shown in the given
figure.

Design [I: This Pookalam is made with 9 circular design each of radius Tem.

Refer Design 1:

() Findthe side of equilateral triangle.

(1) Find the altitude of the equilateral triangle 15

Refer Design 1:

38,

(n) Find the area of square is
Ok
Find area of each arcular design.

Rohan wants to measure the distance of a pond during the visit to his native. He marks points A and B on the opposite edges of
a pond e shown in the figure below. To find the distance between the points, he makes a nght-angled tnangle using rope
connecting B wath another point C are a distance of | 2m, connecting C to point D at a distance of 40m from point C and the
connecting D to the point A which is are a distance of 30m from D such the <A DC=5%0"



(1) What is the distance AC?
i) Which is the following does not form a Pythagoras triplet?

(i) Find the length AB?
OR

Find the length of the rope used.



Solution

SAMPLE PAPER-8

o N {2ty 8. (b)) Since the equation has two equal roots, D=0
(2mc)’ - 41 +m’) (- a”)=0

{8) When 2?3 ig divided by 17 then

» el (Y40 =
By remainder thearem when £ (x) is divided by x + @ the = dm'c?—dc?+4a’ —dm'c? +dmiat =0
remainder = f{- a) = 4’ +d4g’+dma" =0 = dc'=4g" +dma"
Hcm_,f{u}t{f}“andx=1"anda-] == 4E1--¢a1{l+m1:| == -E'Etﬂl{l."'.l'l'rz}
- Remainder =f(-1)=(-1)*=1 9. (e} ty=a+7d 1, =a+1ld

() Substitutex=3 in polynomial ax?+ dx? + 3x—4 and Accordeg o questina, Rt 131, {grven)

+ Td)=12{a+ 11
x* — 4x+ ato obtain remainder and equate. : 3{5156?_]1':1]31:}
3{3}3+4{3F+3[3':I—4={3}3—4{3]+a=-ﬂ'=—] = Ba— 12a+56d—132d=0
ib) Let length and breadth be x cm and y cm respectively. = A M=)
According to problem, . = gt 100 -4
2(x +y)=40 ~4 toy=a+ 19d=0 using (i)
2 .
un:l‘i'l'=‘i ) L tyg=0
) nEX+X M+t
on solving, x= 12, y=§ 1k (b C:nlruidis[ : 31 J:FI J;I J'ﬁ]
length = |2 ¢m and breadth = 8em.
: s 34 (-B)+5 -T+6+10 09
(] lenl:qu.ﬂ.tlmﬂxz—lr-i-{k—lﬂ}:ﬂ. i-l:.-[ +{3}+ i +3+ ]:(E.E]-tﬂrgj
& Product of roots = (k- 10). 1. )
So, k- 10=-2 = k=8 12. {a) Let h be the length of the pole.
{b) Let the annual increment be ¥ y and initial salary be ¥ x E E
x+ dp=4500 . ] By the given condition 3%
and x+ [0y=5400 - (11} 6 50
Solving eqgs. (1) and (11), we get = h= = T5m

x=3900 and y=150
2 Initial salary=¥ 3900
and mmerement =7 150

13. (d) The opposite sides of a quadrilateral circumscribinga
circle subtend supplementary angles at the centre of the

arcle
(e} S,=1la+a,) s ZAOB+£COD=180°
= B60= (3+8l) = Z00D=180"- ZAOB
nm=860+43=20 = |B0° - 125°= 55"
(m) Given that, AABC and APQE, 14. (e} Join Oto Pand Q). Join P to B. Draw 5P L O0).
AB BC CA Mow 5P = (R, as they are opposite sides of rectangle PROS.
Q_R=E=ﬁ OP=Bcm+4cm=12 cm; 05=8cm-4cm=4cm
Therefore sides of one triangle are proportional to the side In right triangle POS,

of the other triangle, then their corresponding angles are P = |IDPI _osl = .||]22 — =82 em

also equal. Hence, by 858 similarity, triangles are similar,
= ACAB~APQR S QR= 82 em
15, (b} We hawve,

A
9 Area of square metal plate =40 = 40 = 1600 cm?
feach hol ‘-ILFI-E:{[j—]E"uch
Area ol ea ole = - = 3 = 13
11
= Area of 441 holes = 441x — = 346 Sem?
B C R P I4

Hence, area of the remaining square plate

=(1600-346.5)= 1253 5 cm?
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16.

17.

18.

19.

0.

) S={(1,1), -, (L.6),(2 1),.-.(2,6),(3,1),...(3.6),
(4,1}, ..., (4,6),(5, 1) ... (5,6)(0,1), ... (6,6)}

n{S)=36

Let E be the event that both dice show different numbers.
E {(1, 2),(1,3),.....(1, 6), (2, 1),{2, 3), (2, 4)..... (2, 6),
(3,1),(3,2),(3,4),(3,5),(3,6), (4, 1), (4, 2), (4, 3), (4,50, {4,
6), (3, 13,03, 2),(3, 3),(5,4),(5, 6), (6, 1), (6, 2),(6,3), (5, 4),
4,30}

n{E)= 30

{b) Letxbethe upper limit and y be the lower limit.
Since, the mid value of the class 15 10,

%Eﬂﬂ = x+y=20 A1)
and x - y= 6 (width of the class=6) __. (i)

By solving equations (i) and (i), we gety=7.

Henee, lower limit of the classis 7.

(e} Imitial number of workers= 120

When |5 male workers are added, then the total number
of workers =120+ 15=135

Mumber of fermale workers =90

o a0 2
Probabality of female workers = E_3E = 5

{a) Reason is troe. [This 1s Thale’s Theorem]
For Assertion

Since DE|| BC .. by Thale’s Theorem
Figure

AD 4E DB
DB~ EC — AD

EC
~AE

AD+DE  AE+ EC
= =

AD AE
AB  AC
= — - —

Al 4AE
2~ Assertion s true.

Since reason gives Assertion.
id) Arranging the terms in ascending order,
0,5, 11,19,21,27,30, 36,42, 50,52
th
11+1
= ] =6 value =27

median value =[

.

Fr R

3.

4.

First number divisible by 8 between 200 and 500 15 208,
Itfowmsan A P=208 216 224 .. , 4596,
Here, a.u-WIS, a=208 d=8

g=a+(n-1)d =49%6=208+(n-1)8 [1 Mark]
{n—1)8 =496 - 208

28R
[n—l]'!T:-n—]-lﬁ = n=37 [ Mark]

OR
Let g be the quotient and r be the remainder when a is
divided by 3. [ Mark]
Therefore, n=3g+ r, wherer=0,1,2
= n=3lgorn=3g+] orig+2
Case(1) if n=13g, then n is divisible by 3, n+ 2 and n + 4 are
not divisible by 3.
Case(ii)ifn=3g+1 thenn+2=3g+3
= 3{g+ 1), which is divisible by 3 and n + 4 = 3g+ 5, which
is not divisible by 3.
So, only (n + 2) 15 divisable by 3.
Case (i) ifn =3g + 2, then n + 2 = 3g + 4, which 15 not
divisibleby 3 and (n+4)=3g+6
= 3{g + 2), which is divisible by 3.
S0, only (n +4)is divisible by 3. [ ! Mark]
Hence one and only one out of n, (n+ 2), (x + 4) 1s drvisable
by 3.
() Since 5T isa diameter of the circle with centre 0, So
L8RT=90°. [Angle in a sermicircie] [1 Mark]
MNow, £PRS + £SRT+ £TRQ = 180° [Lincar pair]
LPRS+90° +30° = | 80F
ZPRS= 180" - 120" =60 [1 Mark]
True As 2 BPA=90°, » PAB= 2 OPA=60° Also, OP L
PT. Therefare, 2 APT = 30° and [1 Mark]
£ PTA=60° —-30° =30, [1 Mark]
(b) Letthe required ratio be K : |
. The co—ordinates of the required point on the y—axis s
K93 _K(2)+50)
K+l 7 K+l
Since, it lies on y — axis
-~ Its x—cordinates =0
4K +3

K+l

=0 = 4K +3=0

= I'-.".=i
4 3
= Required ratio= 4— |

Soratin=3 ‘4

[1 Mark]
m::HHnnIE-:; ar ]+mn1El+ta.uIE=§

2 2 | l
Ytan @==or an  B=— or tanB=—
3 3 NE

= tan A= tan 30"
=6=30"

[1 Mark]
[1 Mark]



25.

26.

27,

28.

L=t the number of blue balls = x
=, Total number of halls=5+=x

5
P (blue ball}= —5-:—-; P (red ball)= '_;;;— [1 Mark]
x x

Given that P (blus)=2 = P(red)

X 5 x 10
Sex 2“54..1 = L4x T Sax
On solving we get x= 10 [1 Mark]
Let Yash make x correct and y wrong answers then 3xr—p
=40 and 4x - 2y=50.

So, equations are Jr—y-40=0 A1)
and 4x -2y -50=0 [1 Mark]
or2x—y-25=0 A1)
Subtracting (i) from (1), Jr—2x—40+25=00r x- 15=0

[1 Mark]

= x=15and puttingx=15ineq.(i)

35—y -40=0 = -y+5=0.50,y=5

2 Total number of questions in thetest =x + y= 15+ 5=20
[1 Mark]

OR

100 men do rd of work in 10 days. 5o, 100 men do complete

work in 30 days.

Soman-days for complete work = 100 = 30, Same work 15

completed by 100 men for 10 days + 150 men for | day +

200 men for 7 days + x men for 5 days. [ Mark]

where x 15 the number of men who work from 19th to 23rd

day.

So, 100 = 10+ 150 = 1 +200= 7+x=x5=100= 30

= Sx=2000-1400-150 = S5x=450= x=90

Hence, 200 — 90= | 10 men should be relieved. [1 Mark]

(a) Here the points ar= A6, 8) and (-2, -12).

By using distance formula, we have

PQ =+J(=9-6)" +(=12-8)"

= 157 +207 = /2255 400 = /625 = 25
Hence, PQ =25 units. [ 1% Marks]
Here the points are 4(—6, —1) and B(-6, 11)

By using distance formula, we have

(b}

Ahwﬂl{-ﬁ-t-ﬁ:ﬂ}"' #f=(=0) =407 +122 =12
Hence, 48 = 12 units, [1% Marks]
Giiven v:quatim:is}ﬁxl— 12ax+ (a2 - ¥)=0
D =(-12af - 4(36)(a? - &%) [-- D=b"—4ac] [| Mark]
= 447 - 144 (a2 - B) = 144 B2 [% Mark]
Now wl22%12b_ath

: T2 &
Hence, c=6

[ Mark]

29,

3l.

3

OR

The given equation is 34 a2m0

Put x'P =y, then P +y-2=0 =y +2y-y-2=0
[ Mark]

=yly+2)-1{y+2)=0 =(y-1){y+2)=0

=y=1or y=-2 [*2 Mark]

=x or x!P=_3 [ Mark]

Lx=({1Por x=(-2p=—-8

Hence, the real roots of the given equations are [, -8,
[* Mark]

Suppose a and a' be the first terms and d and d' be the

commaon difference of the two AP's.

=1

Mow, Sa = %[zﬂ{n- d]and ' = 7{22"+(n~1)d']

[ Mark]
n
i S22 +{n-1d] _2a+(a-1)d
e 0 %EIE."'{H.—I]dl] 23I+{ﬂ—]}d‘
[V Mark]
55 Tael oo
o = dnazy owen)
Ya+(n=11d _ Tn+l ]
2a'+ln-Dd" 4n+27 k)
Wereplace nby (2m - 1)n (1)
2a+(2m-2d _ T(2m-1)+1
2%+ (2m-2)d' 402m-1)+27
~1)d i
= a+im-1)d _14m-6 (1 Mark]

a'+lm-1}d'  &m+23
Sa, the ratio of the m™ terms of the two AP's is (14m— 6)

{Bm+23).
tand

tan B
_ F=—=
¥ sind+ tan® cosg sin 8+ tan ¢ cos@ [1 Mark]

X tan @] sind cosd +sinBoosd
~y  tend| sing cosB +sin# cosd chs:l:
o sin @ 11::!5[#:.:1.115'3 _sm#d
cosd  sind cosd  sind
We know that
HCF(a,b) = LCM (o, b)=a=h
axb

HCFia, b)

306 » 657
HCF (206, 657)

cosh

[1 Mark]

s LCM (306, 657) =

=£EE=34}¢65T=11333

APNK ~ Al MK
[(-- LLME = £ PNK {each 46%) and
LK =K (common)]

[1% Marks]

[V Mark]



33.

. Corresponding sides are proportional

- PN _NK —
M~ MK [% Mark]
GEL B = e
% e c}-“:"‘_h+f [ 5]
OR
In AAPB and ACPD,
SAPB = sCPD=250" [verticallyopposite angles]
. AP & :
Now, — = — | Mark
“PD3 G (e
B_3 6 ——
and =5 =33757% (11} [1 Mark]
AP BP _ 1
S [From Eqs. (i) and {11}] [1 Mark]
AAPB~ ADPC [by SAS similarity criterion]
[1 Mark]
ZA=LD=30°

[corresponding angles of similar tniangles]
In AAPB, ZA+ 7B+ ZAPB= |80°
[sum of angles of a triangle = | §07)
= 30P+./B+50°=180F

= ZB=180"-(50°+ 30°)= 100" [1 Mark]
e, ZPBA=100"
Let P, B and A be the positions of the bird, boy and girl
respectively.
Given PFB= 100m, AC=20m, Lt PM=xm.
In right-angled APBO, we have,
Op I OP 100
T o 1 OF i i
sin 30 = BP = 7 =100 =0P= 3 50m
[1 Mark]
xm

A

IE-II m b My

L'_'
Now, OP = OM + MP
= 50=20+x [ OM=AC=10m]
= x=30m [1 Mark]
e AT i o i

PA 42 PA

— PA=302m=30x141=423m [1 Mark]

Hence, required distance is 42.3 m.
OR

Suppose P be the position of the balloon if its angle of

elevation from the eyes of the girl 15 60° and O be the
position if angle of elevation 1s 30°,

P 0
|BE.2 m
3R I A
'I.'} 2012 m 3
o f
[2 Marks]
PL
In AQLP, tan 60°= —
" ’ oL
SR 212 & s
e R TR [ J
a7
So,0L =
In AOM 0° OM _ oM - MM
nACMD, e 30~ e ™ oM
1 882-12
— . ———— — M= 87
> F=—ou = OM V3 [1 Mark]

Therefore, distance covered by the balloon,
PO=0M-0L

R G

[1 Mark]

We have, FO' = 102 cm, O4d = 00" =42 cm
Let r be the radiug of the hemisphere and h be the height
of the conical part of the toy.
Then, r=04 =42 cm.
h=F0=FrF - ={102-42)cm =6 cm
v

[2 Marks]

Also, radius of the base of the cone =04 =r=42 cm

5 Volume of the wooden toy
=Volume ofthe conical part + Volume of the hermispherical

part

- 1 2, 2n 3 3 et 3

= En:.r +—3rr cm =T|'J'J+Ir]-|:n'1 [I Marks]
=-ilx3§-x4.2x4.2x:ﬁ+1x4_11um3

=%xl;—2x4_2x4.?_114.4|:m3 =266.11cm’ [2 Marks]



35,

36 @) plxi=a’+hbx+c

(i) pix)=lhix+2){x-3)
= kix? — Sx+ 6)

37.

(n1} For value of k,

1
a—=5 (Product of roots = E:l
o a a

BD
o S
1) cos 30 m BD

We know, for a quadratic palynomual
kix? — (Sum of roots) x + Product of roots)

hx® — () + (-1ip)); k (x* + p— Lip)

[1 Mark]

[1 Mark]

[2 Marks]

38.

[2 Marks]

163 om. side BC=32f1 em

[1 Mark]

Class interval Mid values (x;) Frequency if; ) Deviation (d; ) =x ;- Jid;
04 2 ify -12 =72
18 & 3 -3 24
#12 10 6 —4 —24
12-16 12{A) 16 ] 0
1620 18 3 4 12
20-24 L) 14 B 12
1428 26 10 12 120
JE-32 30 E {1 128
T f, = 66 ¥ fd, =252
[4 Marks]
M:an=.4+%L=l4+%-1¢+3_513-1?.3m [ Mark]

) AD=fap?_Bp? =4(3243) - (1632 =48cm

[1 Mark]

(i) Sideofsquare=6=T7=42cm.

Area of square =42 x 42 = | 764 cm” [2 Marks]

OR
Area of each circular
—n( =2 w49
5

=154 cm” [2 Marks]

i AC?-30%+40% =2500 = AC=50m
(@) (21,20,28) [-- 2822 (21 P +(20)%]
(@) AB=50-12=38m
OR
Em



	8..pdf (p.1-7)
	8. solution.pdf (p.8-12)

